R VCE & PDF https://www.geekcert.com/c_paiil0_35.html
' 2024 Latest geekcert C_PAII10_35 PDF and VCE dumps Download
g GeekCert.com

C_PAII10 35984

C_PAII10_35 : SAP Certified Application Associate - SAP Predictive
Analytics

Pass SAP C_PAII10 35 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.geekcert.com/c_paiil0_35.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SAP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

C_PAII10_35 Practice Test | C_PAII10_35 Exam Questions | C_PAII10_35 Braindumps 1/3


https://www.geekcert.com/c_paii10_35.html
https://www.geekcert.com/c_paii10_35.html
https://www.geekcert.com/c_paii10_35.html

VCE & PDF https://www.geekcert.com/c_paiil0_35.html
2024 Latest geekcert C_PAII10_35 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

The option Analyze Deviations is a tool that provides you with a diagnostic of the data statistical variation. This option
can be used for several purposes:

Note: There are 3 correct answers to this question.

A. to compare the distribution of a new dataset with the distribution of the dataset used to train the model,

B. to check the quality of new data after loading them,

C. to check if your data have evolved over time and thus if the model need to be adapted to the new data.

D. The Root entries are used for tracing the activity of the server which can later be used for debugging purposes.

Correct Answer: ABC

QUESTION 2

To generate a time series model, you must select a partition strategy to cut your training dataset into the three sub-sets:
training, validation and testing. Since the order of the observations in the dataset is important for the modeling, only two
types of partition strategies are available in time series:

Note: There are 2 correct answers to this question.

A. Sequential with Testing

B. Sequential without Testing

C. In the IIS Administrative Tools pane, click Internet Information Services (IIS) Manager.

Correct Answer:. AB

QUESTION 3
To describe your data, you can:
Note: There are 2 correct answers to this question.

A. Use an existing description file, that is, taken from your information system or saved from a previous use of
Automated Analytics.

B. A web server such as Apache Web Server or Windows Internet Information Services (1IS).

C. Or create a description file using the Analyze option. In this case, it is important that you validate the description file
obtained. You can save this file for later re-use.

Correct Answer: AC
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QUESTION 4

Two indicators specific to Automated Analytics allow you to evaluate the performance of a model. Note: There are 2
correct answers to this question.

A. The predictive power, which is the quality indicator of the model, Automated Analytics User Guides and Scenarios
Modeling Concepts PUB L | C 27

B. The prediction confidence, which is the robustness indicator.
C. Through Java Web Start: in this mode, a Web server needs to be installed and configured on the machine hosting
the SAP Predictive Analytics server. It will deliver, through web pages, the necessary content in order for the client

computer to run the app

Correct Answer: AB

QUESTION 5
A model with a predictive power of:
Note: There are 3 correct answers to this question.

A. "0.79" is capable of explaining 79% of the information contained in the target variable using the explanatory variables
contained in the dataset analyzed.

B. "1" is a hypothetical perfect model, capable of explaining 100% of the target variable using the explanatory variables
contained in the dataset analyzed. In practice, such a predictive power would generally indicate that an explanatory
variable 100% correlated with the target variable was notexcluded from the dataset analyzed.

C."0"is a purely random model

D. The system account of the authenticated user, this is the default with the system authentication

Correct Answer: ABC
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